7

3L ERREREAE
INSTRUCTION MANUAL

$A37 CTHIM;¥= BEFORE YOU BEGIN

L M AZERCLSICHITS,
Assemble left and right sides
the same way.

Cut off shaded portion.

movement while assembling.

v, [ V
Y TETAHLDICHITS,
Ensure smooth non-binding [}

RIBEA &

e 2MMOREHITSD () .
Must be purchased separately! Drill holes with the specified

diameter (here: 2mm).

IRF REHTEET . ._» B LTI TH.

Apply epoxy glue.

Pay close attention here!

BRERERTERET 5. YN OER/LEREESHHT
Apply instant glue fjh =0 Pl e
(&E glue, super glue). go?;\g%mvzrﬁaghkﬁﬁ@;ymboll

small rubber band

[
-
a

L
W

—

If the tail is not right angle

/ to the fin, apply tape to one
side to achieve the right
alignment.

T
ia

/'\ Warning!

i: TORICHEDER

; <2 Included with the radio set.

The pre-covered film on ARF kits
may wrinkle due to variations

of temperature.Smooth out as
explained below.

Use an iron covered with a cloth! Start
at low setting.Increase the setting if
necessary.|f it is too high, you may
damage the film.

with cover (cloth) \

low setting

SPECIFICATIONS

Wing Span.......... 2630mm(103")
Weight................. 1000g~1100g
Length......cc...c.... 1130mm(44.5")
Wing Area........... 28.5dm?

Wing Loading..... 33~35g/dm?
Airfoil.................. HQ 3012
Radio........cccvvveees 3 channel, 4servos

DN

,,,,,,,,,,,,,,,,,,,,, Hom

3 x 18mm screw
VA1 Sttt

6 x 600mm
QI - Carvonred
3 x 30mm
omm)mm | Wire
T— 1x1000mm wire
T__p— - 1x90mm wie

RIEBA &G
Must be purchased separately!

2.6 x 12mmTPEXR

2.6 x 12mm TP screw \

Linkage Stopper
9
O~
/ S 7aRICHBOER

(5] Included with the radio set.
. > 0

' BUBEA &
Must be purchased
separately!

£l
N &>

<

2mm Nut

/

&,

TP Screw

3 x 18mm screw

3 x 30mm Wire

2 turns:big rubber band

6 x 600mm Carbon pole

Fix with tape.

E BIBASR y 2
Must be purchased separately!
F Cut away covering film.

L= N
Must be purchased
separately!

10

T — 7
Double-Side Tape T
1

2mm Nut

1 x90mm rod
3 x4mm
@o

&8 Linkage Stopper
[]

T Down side

PA

The CG position will vary

depends on your requirement.

Move the CG to achieve your

control style.

CG
BB

\ ET —7 A F R
8 Double-Side Tape

2.6 x 12mm TP screw

Designed and Manufactured by : FLYFLY

FlyFly Hobby Mfg.
infc;‘é;ﬂy%/hobby.co‘r‘: g _K _%
http://www.flyflyhobby.com




